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WAVELENGTH UNITS

Preferred: 1am = 1T mug = 107°m = 107cm = 10 &
{nanometer) .
Stillused: 1 mu = Tnam = 107%m = 107 em = 10 A
{miltimicron)
Often used
in emission .
workzTA = 10'nm-= 10" mu = 10™"m = 10 cm
(Angstrom)
. A-Values in Various Units-
In nm . In mu InA
(nanomerters) (millimicrons) ) (Angsaroms)
700 700 7000
- 600 600 6000
500 500 5000
400 190 4000
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1, We start the defnivation with a very thin
layer of solution that contains the molecules
that will absorb the light and denote the
iayer thickness by: A b

2. Then we illuminate
the layer with a

very uniform ——

beam of light  =—eme—an- ; 0

of intensity — 5 | .
7o P)

h 4, We aiso note
that each
. . molecule has

R as_soc!'ated
;g:sl;e:tionai
> )_ area, a, o7
) > capture cross
———— section into
S which a
SR, phut_on must
pass in order
> 1o be absorbe
—
B -
—_— .
> 5, The net result is that
some of the uniform
—_— beam is abosrbed,
— &? 8 and we measure this
— by mmm ﬂ..,e amour
.- s of light that is
- . uat absarbed. or
—> the intensity of the
- > transmitted light
.. L 9 . beam PT;

3. We note that th:
layer presents an
area W-(some
‘number of em?)
10 the light beamn.
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SPECTROPHOTOMETRIC TERMS

Accepted Terms

Absorbance, A Transmittance, T Molar absorptivity, €

Old Terms:
Absorbancy Transmittancy Molar absorbancy index
Extinction Transmission Molar extincrion coefficient

Molar absorption coefficient

Optical density
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ABSORBANCE DATA FOR 0.0250M Cr(NQ;);,

06|~ 0.0750M Co(NO;)., AND A SOLUTION AT ONCE
0.0250M IN Cr(NO;); AND 0.0750M IN Co(NO;)..
ABSORBANCES IN THIS TABLE ARE TAKEN TO
05 TWO SIGNIFICANT FIGURES ONLY.
A,0.0250 M Cr* &
04 A,am - A,0.0250M Cr’® . A,0.0750M Co?* 0.0750M Co**
< | 375 0.26 0.01 027
03} 400 0.43 0.03 0.46
; 425 0.39 0.07 0.46'
3 440 0.29 0.13 0.42
02~ 455 0.20 021 0.41
470 0.14 0.28 0.42
S04k 480 0.12 0.30 0.42
£ 490 0.1 0.34 0.45
—| so0 0.13 038 051
81 s20 0.19 0.38 0.57
350 t 530 0.24 0.33 0.57
540 0.28 0.26 0.54
. 550 0.32 0.18 0.50
o - go2s0Mcr’ 570 0.38 0.08 0.46
20 | s 039 0.06 045
4 - 00150M C",, 580 0.38 0.05 0.43
0.0250 M Cr ~| eo00 034 0.03 0.37
0.0750 M Co®* | e 0.24 0.02 026
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Emy.bsey (17) jss
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A .

0.04 -

0.02 }-- .
(P P ¥
slope = ccoago * 4 ,ff_{?c_ = %%8205 =0.533

. Ceo . Q.
Lo _ 1
0.050 0.100, )
Ceo, M
Ay Ay
G Cyn slope -AC,,, =ty b

400 xe
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0.80 -
0,60 -
A4 = 0570
A
0.40 }-
0,20 |-
Ao = 0.1125 ———>F—
AA__ 0570
lope = cpe A 0570
slope = ccysgs = & e " 00128 5.07
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0.050 0.100
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0.80 |-
0.40 |-
060 |-
030 |~
A=050 -
A
‘030 |- A
0.20 |-
34:0210
0.20 |- 4
/ i T (K P03 | — 090 -
) X X . LTV T X Tp—
5'“’10 " eeann * !' - -:}.’" = {']517” =162 ' ’ ’
A ACe 0375 CoAA 0210
Slope = Coy, - b= 20 560
A, 0315
0 i L | Lo | o L
00125 0.0250 00375 ’ ! : ! 4
0072501 -

00125 0037y

A VERSUS C DATA FOR Cr AND Co AT 400 AND 505 nm

CcorM  Aar400nm A at 505 nm CoreM  Aac400am A at505nm
0.0375 0.020 0.190 0.0125 0.190 0.070
0.0750 0.040 0.380 0.0250 0.380 0.140
0.1506 0.080 0.760 0.0500 0.760 0.280

(g A SN D) o5 Sy S e glail € 03 (T 50

€b-VALUES FOR Co-Cr SYSTEMS (UNITS OF LITERS/MOLE)

€Cr400 " b = 15.2

€Co400 " & = Q.533 =
€Cr505 & = 360

€Co505-" & = 5..07-

DUt I S  E-PPPRE N [PRC W P SNSRI [ JER N CR PRE

t b S e 56505 400 2 1 1B YT e Lol s el

0.400 = €cod00 " & " Cco * €cra00 * 0 * Cor

0.530 = €cosos " & " Cco * €crsos “ b Cer

QW gl e s S e sle Yl Jazs o3

211



0.400 = 0.533Cco + 15.2Ccr
0.530 = 5.07C¢o + 5.60Cc,

0.400 - 0.533Cco

15.2 B

0.530 = 5.07C¢c, + 5.60 0.400 - 0.533Cco

Cer =

15.2
o (5.60)(0.400) _ (5.60)(0.533)
0.530 = 5.07C¢o + 15.2 152 Ceo
0383 = 4.87Cc,
Ans:

[>cc° = 0.0780M

_ 0.400 - (0.533){0.0786)
Cer =

15.2
Ans:

i o P8 s L S By ) 25 e

s T ¢ gt B g | Al g sl

L5 iy lall e o e L] S il o 52l 803 oS Sl 15
O_iﬁp)%,_;u).Q,J\sujgys@ugga@p\mj.@L,Jb,d;w\
Lo Y batie L 55 L i) 0580 (65T Blad 8y 1S a3l s La Sl
o sl 5 ) idall SLgd plasal ) Lol 10 L0 s 01 G sl S !
(22) Sl il A 45, b a5 (Spectrophotometer

Buret,
with titrant

Source of l / )
monochromatic i 2= Det Readout
tight N |

Titration vessel
with analyte
and stirrer

S5 55 S Sl s 15:(22) S
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e o e W B I e J 2 il 8T Islall § ol sl
)L&\MQJW\WL}L@;L&QL@ch@l\é;@\g&\&&»yL@h\!\

.W\j

S AP

8t 625 nm

Acon

|

|

|

I

|
Endpoint

Volumé of titrant

Millititers of Y4~

ile e (23) S5 Lol e el 4 Ls (24) Jss

oo 53 5b 9 S|
QW1 ol o Ciital) emnail] jolazeV1 By ACom 3
LS olaze¥l= Aobs
el po il LoV =y
(SLall edi=x
ACorr(* ) = owall jolazI= ACorr
v

(PH=4.5 1o (EDTA) LysYl el ool on 7 355 501 o) Jlis

'OOCCHI /CHZCOO—
Y4 = /NCHz—CH,N'
‘OOCCH: CH,COO
Cu’™ +  ¥Y¥ = cuv?
absorbs dozs not absorbs
fittle at absort strongly
825 nm at 625 am ar6azs nm
[Cuy?]
= enormous number at pH 4.5

f= 2+
Cu*’jC .
[ Icy (reaction complete)

213



5 gual i i 5 g7 | Al gt 2o okl g yad
Specttrophotometer determination of physical)
constants) :

G b e UL L 5 OF o Siay 85— Y1 s plaseuly Ay Ll 22 5L
Al ool 5ol e 85 S
Al Ol ST e S5 (5 il SEYT uld el 8 (s 2 b Y
g pdinns B b SN e 5y L ey i lWl— aedl 5 lad —ka S5 g
RUIRF NPV INPAN
.yoe—jonesléﬁ}k{qujqﬂ\jciuyjl\wuli)a -1
. joes i oy G x5y ezl el -2
Olodtsniony o) paendl il 2 b 5 &) &)Y A1 85, b . ol VA5 b -3
Ay ol (sl —0unll CSTAL (5 eanall sENT Lyl 5 ¢y STl ol 58 52 Y
Glaseal SV a4V
gy Al =S IIL i =55k} O gl ) b il =2 )Y 5 2 b
D) ot 5 75 Wb 5 ool kel = el o 55kl 0ol Joliy Lontind 3y Jall
o p 510 de dga /531,100 g 2,Y g Gy Caly 12103 Jany (0
P S S 5

mFEe?* + nOph = Fe,,Oph?’ O
colorless colorless does absorb O )
A\
N N

mF** +noph —=Fe,;; o phn*”

pVIWEL SOV RN P
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dls

sdee e Alecd ) Fe2* e 7 /ol ;e 100.0 J god e 5.00 i
HE}})UF&!)YH 5.05x10-3 wwﬁgaw‘jcwﬁ 100@@&)‘})
n/m e N i) G (8) o cioShall i elll Loy o e 55503 55,5591
NEPNE

MOLE-RATIO DATA FOR THE
Fe?*.Oph COMPLEX

milliters of
5.85 X 107°M
Flask Number  “Oph added Aat510 nm
1 2.00 0.374
2 3.00 G.560
] 4.00 0.747
4 6.00 0.993
5 8.00 0.993
5 10.00 0.993
7 12.00 0.993

sl 5551 N pe sus _r

m

)ju\i.)ol-\ CJY)A e

1075 5ol 1 2 107%100

(j)-’e-&\ Jse [p155.83 ) ( ) = Hadeddl N e sue

il J 5s 1079 x8.95 =
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4
0.1000
I‘l
I
l
!
{1
0.750 {— :
|
|
|
a i
0.500 |- |
i
i
. |
|
! !
0250 |- ! |
/ !
/ !
!
/ |
/ |
/ i
o %5.32m:.f|hrers | . i N
0 5.00 - 10.00 -

Milliliters of Oph added
5 5 55551 = 5 st ns (25) JSC
ol Iy 81 A

n number of moles of Oph {mmber of moles of ™)
= 100.00 X 107 f Fe\5.00 X 1071 '
( ) = st c\(o 19 xrm\ = 8.95 X 10” moles
5

number of moles of Fe?", m
liters rams of Fe
“" moles of Fe ,/

m

SN g sae slgls e 3 els Al el alg) Sy (25) UK s
(% 1073%5.057) (3 1073x5.32) = 56l oY 4o 5o

= 581 .50 10-3%2.69

s kil J 50107°%2.69

3_ o SN im0,
I~ e, 10°x8.95
Jsldl O 59
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Fe**+30ph —= FeOph3**
or2Fe?*+6boph —= Fe:0phe
dls

Flle 2.0 5sunadl e S cansl o ool (350 G AL 50 & e Al
uw@\vsj‘aﬁw\y@;u@b.mgowﬂy1><10—5 S5
g_,zuj?("/m) LV dedl 2 (3.9 J skt (3 el Sl Ao 556 5.6
Skf

J5e 1076 %2 = (2x10-3 it )(1x10-3) = 5 50doeld Y Sl sus Y ]

Jse 1076x2 = (I 6.x10-3)(10 3 x1) = LSV ikt e Yl sus

(26) JSadl g
SIS ik ke Yl sue n

B jJﬁJ.é-\ oY g8 e m
3 (5 107°%6) JLSSV s dee Y 5l sue n
1 (d}ﬁ 10-6X2) )j.,\i..bl-\ C’J‘y‘}a Sde m
RATIO DETER-
MINATION OF
n/m AND Kr FOR
Fe?*'—Vers
COMPLEX
Added Millilicers
of
Vers A
2.00 0.240
3.00 0.360
4.00 0.480
5.00 0.593
6.00 0.700
8.00 0.720
10.00 0.720
12.00 0.720
(9) Jsi>
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S K 5 el dal) dl Y e L
m

ol

0.750 - £

0.5C0

0.250

) | 6.00 milliliters ‘.
1J/ I L

0.00 5.00 10.00

Milliliters of Vers added
2BV M 2 b Baul K 5 eS| =5 stk s (26) IS0
1055 e Jeledls
Fe2++3vers ——[Fevers |**

i olldly A=070 e Ll 1Kl e dazdly (vers )| Fex+ ]| Fevers]**

[Fevess |2+ = A e
eb
A =eb[(Fevers)]**
- 3A
Cverg =[Fe?" 1+ 3[(Fevors )| =Cy g ——b
€

218



p — Aleb
S T (Cpo—AJb): (Cvers —3A/ b
oo 5 s e YN Aslall o LaSl ST sl o3 Lo J gt | e i s
Ll s - A=0.7¢(Vers) SLall Jlodl e s 6.0 bl iy jolazeYl
Lol Jeudl e AU ¢ € Loliane V14N Sl dedll 5 ¢SSl ol o e 5 e
GLLSSND) Gl Y1 alais g

A =0.720
Cp =[FeVerss]s =M(lx10*3mole/liter)
50.millitiver
=4x10"°M
A 0.72

=1.8x10"*/it / mole

= blFeversspr  (1)(@x10-%)
A =070= LS i die s

__ 07 _3g9x10
1.8x10*x0.1
Cro =4x10-°M
Cvers =4x10-’M
Cvers :Mxlx10‘5 m(.)le =12x10">mole
50.milliliter lit
e AN R A S N P
Aleb
KFp=
(CFe — A/ eb)(Cvers —3A/ eb)’
B 3.89x10°3
(4x107°-3.89x10-5)(12.x10-5-3%x3.89%x10-%)3
=9.84x10"

TV &Y U1 2 b plaenal Sy 5 0l g5 ey L ST CS1 0,58 Lag
SIS e Sl ey g il SENT e JS sl Y dedie 43 b 8 g
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(§ el SEY Ly 1 S ol ale Y (65T Ly b b 55 1 8 pedl il Ay
Ol 3 dsT e ladl OF (o A& (o sal) JOb'S &y Jlay 5 a5 5 pazd) L2yl oda
(ML) Bl Gl US o asy 01 (L) 0501 e sl M 05l sl o

mM +nl =M L n kf = 4mElnl
[M ]"[L]"

ol B b plastal (Sad e K @3l 155 cdrl 5 ST e 1 455 oo

C)VHJJ‘JC)—“;JA&)UJJ‘UAMJ}‘Jﬁﬁ@#‘°i&g}°"d‘g}'§‘:‘jb
100 gl el Oaall o SVl sie £ pond BLS] (|
b =(L) @Y e sus +(M) &Y 40 50e

S ol Lo lama V1 5 cOal 2kl 0 510 655 el Al S5
(27) Sl Jaxs Cseedd A1 S0 ST M

(W) dl e sn L) Ll s ST M S0 Il ST

mole fraction of M = Xy
{number of moies of M)

B (number of moles of M) + (number of moles of L}

mole fraction of L = X
{number of moles of L)

B {number of moles of M) + (number of moles of L)

Xm + X =1

AN I SN o el ol 5 6 L (27) S8l ans bl o
S gadlace [IMIOdnel) J5l1 sl G XMINL i G ja5 dilats 3 Labolin
sl AUl bl L3 — ool gaidl e 5 0 S S|
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SN

|

|

|
I s

h ¢
Xt

X

s ea (27) S
YN VL s 5 W Sy K 0125
uua@uﬂ;ﬁ&ouﬁﬂo}_iwj‘ali;»ﬁ\u@eé—.w;W—;meOO
s oY T e ) LS e U S Sleliny 5 lime G5B s (nlas 1o LAYIS 000
s 55500 ke oliazsl

mFe3*+nSc N —— FemScNn

Kf 0555
[FemScNn]
[Fe*]"[ScN ]

C)L_:L:.J\oJJsuAjcj:»ybSOOMWL@A\‘}M\@L‘Q%(IO)J}&U
(28) JSCat 5 el g1 T Syt J poed A il jolaze¥) vy Sy
S s
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3.000

0.756 —

.y

b

S
AT T e s e ey

-

0.500 Y

0.250 [—

| 12.00 mittititers
1
i
L ! 1 !
0.00 4.00 800 1200 1600 20.00 24.00

Milliliters KSCN solution

O 3 iy FE''SCN Sl e (m (28) S0
ng,ﬂxﬁw;o;ﬂ:mzmckwjgswwczsw

C(103x1) (10°x12) Lkl oY sesue

(10-3x1) (10 3x12) i o s

=n/m
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‘g 4y F&''SCN™ st s ULy (10) J s

DATA ON Fe®" - SCN" COMPLEX FOR
JOB'S METHOD 2

Milliliters of Millilitgrs of
Solution  1.00 X 107M  1.00 X 1074
Number Fe(NO,), KSCN A
i 24.00 0.00 0.000
2 22.00 2.00 0.125
3 20.00 4.00 0.237
4 18.00 6.00 0.339
5 16.00 8.00 0.415
6 14.00 10.00 0.460
7 12.00 12.00 0.473
8 10.00 14.00 0.460
a 8.00 16.00 0.424
10 6.00 18.00 0.344
1 4.00 20.00 0.254
12 2.00 22.00 0.152
13 b.00 24.00 0.000

Sl el —kf A olud &Y Usl) Ll

Fe3' + SCN™ = FeSCN?'

~ _ [FescN']
f~ [Fe*"][SCN']

A=0471 dowb (0 )~ o J By olianal gadl e Sy L loo s

A=0473

milliliters of Fe3+=12.00milliliters
milliliters of SCN ~ =12.00milliliters

CFe =[Fe3*]+[FeSCN **]
[Fe*]=CFe —[FeSCN **]
CSCN =[SCN "]+[FeCN *]
[SCN "1=CSCN —[FeCN *']

CFe =

_ (12.00milliliters )(1.00x10~*M)

(24.00Mililiters )
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tSCN =~ 055Y b
(12.00milliters )(1.00x 10~ *M)
(24.00milliliters )
doad s sl Lle CSI a3 5L § [FeSCN ] e S1 A e 3Ly
S r\ S OT s . LoD olazeV e slazeNlex = extrapolated . A ex
CFe a1 0 1 35 33 Uslus [FeSCN ] <SIdd 015N 5.8 50,5558 10
[FeSCN *lex =CFe
Aex =eb[FeSCN **lex =ebCFpe
A =observed absorbance
A =eb[FeSCN **]
A _#b[FeSCN *']
Ao #bCpe
[FeSCN **]= 4

ex

CSCN = =5.00x10"*M

Cre
From Figure4.29

A =0473
Aex = 0718
_ [FeSCN*] _ [Fe SCN **]
[Fe**][SCN] (CFe—[FeSCN **]))(CSCN —[FeSCN **))
A
C
_ A Te
A A
(CFe ——CFe)(CSCN ———CFe)
Aex Aex
C
Aex ié
0473
_ 0.718
(1_0473) 5.00x10-4— 0473 N
0.718 0.7
=1.13x10"*
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L gl gl da b -3

23U o oSO 2 6 5 2 el o oyl Slee 5« 1950 b5 (351 Lo 31
Melss (L) el «MD) sl 0F o) L ododndl Jam lgd e Je s s
tJU) sl Lo Mim L SV AL Llaad

mM +nl —Mm Ln
Mm Ln oS\ S50 0 e WS 5 haion b Wby LM 0T o 6
e e Lo 05 nim s LoLazel a3
Ay 5 3 i o el 35l s il L1 omy Bal gy s Y
S AM e S Blass .6 2 Y 555,06 e ol 3501 0T dos (@S Lo 4
¢3)))UJ_<L“§ MmLn J\Md\ﬂy‘é;&dwbjGSJ‘j)GJS‘;;g,S\JU\
Z%;ABJJJGJQCm‘m H&U}éﬂ\r}yéwl{j
MmLn =CM /m
SN Amax de J ke 1 ol ulds

A=eb[MmLn],=eb CM /m

e 3 ol oy (30) S0 OM e ol oy 205 s
mibie (V?EUL;M‘)

CM

v

el S 2 e (29) S
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Al ST AL Caas o ddaiedl odis e
M e BeS B3 JS G s oS 6 AT R U e &l o] gl U3 g
G S e 3 g o8 L il 0 BeS i o B S M e 55 1
.CL.L d)jaJS‘}}:th.é)jaJS
[MmLn]=CL /n
Sl x max Md}&dﬁupm\!\uwvs

A=eb[MmLn]=CL/n e€b
%—QJ‘MW;'%@’J‘J:U‘GO)JQJUE‘ .CL &w&wy\rﬁjrj

€b,n V.:‘:JLL‘:JM
A:ﬂCL
n
A/ _ED
e, =
Slope = A =i
2Cp m

AU e o iy GlIs s o3 &l e SV Ciadl pa o
A

4

C

»
>

) J el s 2T b (30) s
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n Ch/m 1A
m Cb/n 2&\
G5 s VT paall sLENN e it st il (e 0 S el LS
JUS& L5 S s des LS 21 .cbusadl CsiAl 2w 56 620 = A max
((32-31) UKt el (11) skt § bl s .0 pakn
Cr

m
ol ) = o (5 il SEYT O 56 0555 |y -Gl BS1 R 055 0l Jelis
Fe’*t+Tm ——FeTrn

1 AT Jolos Aol 52 O 51 ol o S5

Ll

e

(sl = gn (5) d o

DATA FOR SLOPE
RATIO DETERMINA.
TION FROM HARVEY
AND MANNING?
FOR SLOPE, :
CTm = CONSTANT
=30.0 X 105M

Cre M A
2.00 X 10°° 0.038
24.00 x 107 0.072
6.00 X 107% 0.109
800 X 10°° 0.133

10.00 X 107 0.1686
12.00 x 107~ 0.195
2.00 X 107* 0.017
4.00 X 107% 0.048
6.00 x 107° 0.082
8.00 X 107 o.114
1000 X 107° 0.137
12.00 X 107°% 0.179 '
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0.200
0.161
10.0 X 10-3
0.150 |-
A
0.100 |-
0.161
0.050 |-
ACrm = 10.0 X 1075M ——>—
n i | i t 1 —
0 2 4 6 8 w0 1z

Crens X 10°M

NG AMM&MGI)J&&

0.200 |~
Siopes = 0.161
10.0 X 10-%
0.150 |-
A
0.100 -~
AA =061
0.050
ACypn = 10.0 X 10750 ——=1—
o { | i ! !
0 2 4 6 8 10 12

Crene X 1G°M

lasl] ey Ulw obaor 51 1S ol 512y (2) a5 (1) omeie JK201 1105
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_ slope(1)
% - slope(2)

0.156

n — 10x10°° — —
4@ L e =0.989 =1

10x10°°
diwali A3 Ka culd
HIn g5 ) (S dt 5 01 o8y s clins LalaT lnall o sds ity
.ijﬂéb%\jﬁ&\ﬁ\{dﬂjéw\ Oﬁw\u?p.’.jh’l- ‘Oﬁjﬂéuﬁ

Hln —H" +In ka = HLn7]

S5 050 4 ol as RGN Rt
ka [In7]

[H+] [Hin]

CH ol e sl S

Unl il eda,
[HIn] © O F

(e Wl el 5D aas Wl s Ll O In)HIn ¢[H+] Laises dod Lis
s il o s Lol s cdsladl g ganldl K201 0S5 [HA] oo Lo Gad e s
d 5 S5 0 I iz LSS 5 In " Hin JJod OMSCS e 5 La g A0S L 50e G
s - Gisabasic)  aei) & gLl 2alal) G5 Ll s o gloze |ogne IS 0,5 daans
JSas (12) Jpadl il . PH o3, 3 3J1as’ joluane ) il da>Sle s PH i
. oobaz ¥l mo PH i 5 ol G 015 «(33)
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BRODE'S DATA FOR

BROMCRESOL
PURPLE?
pH A
4.8 0.000
5.0 0.057
5.2 0.143
5.4 0.229
5.6 0.363
5.8 0:486
6.0 0.672
6.2 0.887
6.4 1.144
6.6 1373
6.8 1.587
7.0 1.716
7.2 1.873
7.4 1.945
76 1.973
55 2 oblu(12) Jsua

CS 6.3 a5 Pha <ol iad (33) ISl pe g

Pka=PHska=H " HlIn=1In- 0l dos . A=1.0 L
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i

S ot S a5 5 055l ¢ LA LS LS o e ol S -
s fn 55 Amax =606 A olas¥l a5 55 (Cuprizone) o 5z S
RAVIP L PREROE

o G s dl s —a MgCa/25mL A

Jsdalls Sl eid o5l 44.0 0.553

| S EPSPSPA 56.0 0.699

1 sl 1 ola eVl 68.0 0.860

S5 s al5.0.75 85.0 0.998
¢ bl

ol eVl o ls b 95.0 1.160

S 55606 e Y L
ol J a1 LS e
104 55 0 0.585 el Loliazel _dael d55 ¢ w51 525 die sl (s =2
ol NI O 5 dalll Gog Bl s dst T ST s 0SNG Mno s ] &l
Ayl Bl 3 pmdd 155 1 2l el (0.4
t b S ULy ca Y Bl o bl G oy =3

Mielelter
CorrectedA
Y*soln At625nm
2.00 0.080
4.00 0.160
6.00 0.240
8.00 0.320
10.00 0.400
12.00 0.420
14.00 0.420
16.00 0.420
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.j\l:l.az()()&és;ﬁjhuu\ﬁ;)l\w&v_ﬁ
PH &LbAM\MJJbJ:JJU pka (e -4

PH A PH A
1.60 0.80 6.90 0.48
4.20 0.77 7.20 0.37
5.95 0.74 7.50 0.28
6.40 0.70 8.50 0.16
6.353 0.58 11.20 0.15

e .Abasic = 0.481 ;s 5L 615 ae om a5V d gy S5 =5
QU il o joluana¥ 15 PH (3
PH =4.18,4.48,4.62,5.10, 4 .absnbances : 0.115,0.187,0.234,0.287,360.
e

(e aloedl 55 5 s Yol -1 -1

AL1000 ¢ ~10°x44.0 el
S asls AL 25 S
1073 x1.76

= /102 X176 =
G353 107

A /Js1073%x2.77 =

Lol S 5 01 e
2.77,3.52,4.28,5.35,5.98 103V ersus A —0.553,0.699,0.860,0.998,1.160.
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CuL}JLE.AAV.VJJJj

3.9%1075M ga 5.5 01 O s

1.00 |—

°
AA = 0390
Oy
WAvewoown . .
Algy = 2,00 X 1074 M
9
0.50 |-

| Cuknown * 3.80 X 10-841
0.00 1 Jé : TE—

2.00 4,00 6.00

o) 5 ol A e (34) S

A 05l e =2

A= ebC Au=0.400
Au =ebCu Cu=?
Ak =ebCk Ak =0.585
Ck =1.0x10-4

Au _ebCu o _Au

Ak ebCk Ak

Cu =i(1.0x10*4) =6.84x10"°Mm Mnou

0.585

S| b simeiald 405 )1 Bl 52 113)

J3.>=.l| C)Lo\jq- dhe
=100 x = el L

s nd) DLl - S

233



Al G (YD) bl o sue = ool Y se sue

A A0 x5)Cu = Slaws Il g oY lsue
Y 5010-5%3.42=(10""x5)(10~° x 6.84)

eeeald J 50 1075%3.42 =

ol 1073 x1.88 = 54.94x10-5x3.42 = jeocll el 12 ss

107x1.88 ,
37%=100x — = &l 3 ool 4

-1
107 x5
(35) s i
O
0.4C0 - i
I
|
0.300 i
|
|
A ,
|
0.200 |- |
|
|
|
0.100 |
|
| 0.50 i
I Endpoint at 10.50 milliliters
[ 1 Z L1

4.00 8.00 12.00
Miltititers of 0.1000.41 ¥*

Cu’™ a4,k (35) J2

ezl el e L 4 el e Aile 10.50 Jsladl e OF LS5 K81y
LoV ge = e 50 3 eloedl J g
Jss i
J50 1073 x10.5 =( —%10—&1)(;/{10—& 10.5) =

J 541077 %5.250 =103 x10.5%5 = ks 250 (3wl J 5o 113)
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orbeld ol ke 333.6 = (1000)(63.54)(103 x5.25) = ool o 2.l

Gl o JI 015 ¢ (A =0.8)PH 0T >, (36) JCe U g 4 JLy -4
ide o li Lzl y(A=0.15¢0.8) Ll wylliakll 35 (A=0.15PH=11.2
ezl oda xie 5 (4 =0.47¢7.0 U HIn = InPH = 6.9)

PH =Pka
_[Hn ]
[Hln |
[In~]=[HIn]
ka =[H"]
pka =PH
0.750 o
) 0.500 —
0.250 -
i 1 | |
0 5.00 10.00

oH

I3l 355Y i 5432 lis A o, (36) I
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iS5 ¢ Ul 350 Us) o and bl 80 o 5SS OF Jgodl 50 =5
QW1 ol e 2kl 581 AU Lol

e e 9L 630 e e Co, ppm A
Jo100 8y sls5s 5 sale -] 3.0 0.10
$J el
40208l 5s 5 a0 6.0 0.21
e
Eall o lads S 5S 5 o o - 9.0 0.32
$ 4.0 12.0 0.42

37 S5l 3 Ceo flie A oo N T -
d)?U\Qe}b71 =d}@.?d\ CCO}§}J\¢O.25=U%\A@WY\
il O 6 Sl s -

C1V1 :Cz Vz
c.V
C,=—2-2,C =?
1
C,=71  V,=4ml
:\31
Cre X100 e 10:PPm
4.0
O c} s y>==PPm
|
|
|
I
Cco Jla A(37) s
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=C,Juj.<.u r\)?;:u\ dde Nd
S elmde 72= A1073x4x1.8x10?

(Daph) ¢ 5 58 54 s Bl 653 ST R any 55001 050 =6

Fe, Baph®*
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